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PREÇO DESTE NÚMERO (IVA INCLUÍDO 5%)

• Rua da Escola Politécnica, 135 — 1250-100 Lisboa
Telef. 21 394 57 00  Fax 21 394 57 50  Metro — Rato

• Rua do Marquês de Sá da Bandeira, 16-A e 16-B — 1050-148 Lisboa
Telef. 21 330 17 00   Fax 21 330 17 07  Metro — S. Sebastião

• Rua de D. Francisco Manuel de Melo, 5 — 1099-002 Lisboa
Telef. 21 383 58 00  Fax 21 383 58 34

• Rua de D. Filipa de Vilhena, 12 — 1000-136 Lisboa
Telef. 21 781 07 00   Fax 21 781 07 95  Metro — Saldanha

• Avenida de Fernão de Magalhães, 486 — 3000-173 Coimbra
Telef. 23 985 64 00    Fax 23 985 64 16

• Praça de Guilherme Gomes Fernandes, 84 — 4050-294 Porto
Telef. 22 339 58 20    Fax 22 339 58 23

• Avenida Lusíada — 1500-392 Lisboa
(Centro Colombo, loja 0.503)
Telef. 21 711 11 25   Fax 21 711 11 21  Metro — C. Militar

• Rua das Portas de Santo Antão, 2-2/A — 1150-268 Lisboa
Telefs. 21 324 04 07/08    Fax 21 324 04 09  Metro — Rossio

• Loja do Cidadão (Lisboa) Rua de Abranches Ferrão, 10 — 1600-001 Lisboa
Telef. 21 723 13 70    Fax 21 723 13 71  Metro — Laranjeiras

• Loja do Cidadão (Porto) Avenida de Fernão Magalhães, 1862 — 4350-158 Porto
Telef. 22 557 19 27    Fax 22 557 19 29

• Loja do Cidadão (Aveiro) Rua de Orlando Oliveira, 41 e 47 — 3800-040 Aveiro
Forca Vouga
Telef. 23 440 58 49   Fax 23 440 58 64
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